Precalcudusy Ut 2 Notes—Factoring and Review

Grouping GCFax® + by} + GCF(cx + d) =
Four Terms
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Find two factors of ac
{mand p), thatadd up to b.
axt+bx+c

Rewrite as ox?+ mx + px + C.

Trinomial

Factor by grouping.
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Take the square root of the
Trinomial first term and the last term.
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Difference of Take the square root of each
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SLIDE anhd DIVIDE
1) slide
2) factor
H 3) divide
[ 4) bottoms up!!!
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Factor completely:

1) x5—16x> 2) —7y“—56y! 3) B+ Ta+2
X (514 ’*‘MW*?) (el ’”f)
X1 )(x 4 (ijrz)(J Z\jH) (;*5 *K(": 0
2 \xt2) (v e
()( XX 2)6<r ) (2\\2)(9)(:\\
4) 3x3 +15x*— 12x — 60 5) 8x’—27 6) 8xy = 20my — 12y
3 (K- 28) (- 3o ) hy (24 -3
3L (xv5) 4 ( kaJ | L}‘j (2x —rU(X ~3)
s)()\'fr?)(x L{) \ |
3 (xrs) (xt2)x-2) |
7) 62+ 1xe 10 ) —3.6x3y:i-lv5x2)?+6x){l | 9) —2x3+2x‘ -
%x—z) (bH- 5) -0y (11542 2 ) )
e e G- 2 ) - 1x (e
e b2
UK+ 1) (X = )

(e &,

(3 (K3 ) = (200rs)3x-2)

10) 60x* + 40x2 - 135x ~ 90 11) x*~29x2 + 100 12) 54x° - 128

508820 ) () E) 2 (1 )
b [L\xi(gxir’z) -9 (%x'rZ)J (X—t‘i)(?\-fj)('gﬁ“zv)(x~2> ) (3%~ q)@ﬁ, ks @
5 3x2) (4 4)

- 53%e2)(2x-3)xr 3)



